
THIRD ANGLE PROJECTION

MS161 x 8
25 x 40 Standard Saddle, M8

LA030 x
Leg Label, Standard

8

(INVA4R) x 1
Customer Instruction Sheet(s)

MS417 x
VA Leg

8

PA89 x

LA038 x

FK169 x

FK827 x

1

2

1

1
Printed Label, Kit Box

Leg fixing kit for VA2

Modular Rack, 2 Module Joining Kit

Fitting Kit, 8 Legs Saddle Fixings

Plain Cardboard Box, 560 x 140 x 160, TGS

PA03 x 2

FK731 x 2

Fit Labels to Legs as shown above.1.
Fold Printed Label along edge of Kit box.2.
Put through heat tunnel.3.

Notes:

ITEM NO. PART NUMBER DESCRIPTION Parts/QT
Y.

1 MS161 25 x 40 Standard Saddle, M8 8
2 MS417 VA Leg 8
3 LA030 Leg Label, Standard 8
4 [INSTRUCTIONS] Customer Instruction Sheet(s) 1
5 LA038 Printed Label, Kit Box 1
6 FK827 Leg fixing kit for VA2 2

7 FK731 Modular Rack, 2 Module Joining 
Kit 2

8 FK169 Fitting Kit, 8 Legs Saddle Fixings 1
9 PA89 Plain Cardboard Box, 560 x 140 x 

160, TGS 1

10 PA03 Leg Kit Insert 2

"VA" 8 Leg Fitting Kit, Modular RacksVA4R (1of4)
WEIGHT:

n/a
SHEET SIZE A3 SHEET SCALE:  2:7

DRAWING NO: DESCRIPTION:

MATERIAL SPEC: DEBURR AND BREAK
ALL SHARP EDGES

FINISH:

0.00            0.2
0.0              0.5
ANG          0.5

MATERIAL SIZE:

n/a

DESIGNED BY:

n/a 5.36Kg

K. Broadbent
21/07/14

NOTE: This drawing is the property of Rhino Products Ltd and must not be used or copied without written consent. The Rhino Products name and logo must remain clearly visible in any reproduction.

UNLESS OTHERWISE SPECIFIED:

DIMENSIONS ARE IN MM

DERIVED DIMENSIONS SHOWN IN BRACKETS

©

c 1007

ISSUE: DRAWN BY: CRF NO: DESCRIPTION:

Change to updated fk kit, and instructions updated to suitCH

Updated fitting kit to swap PS194 to PS2101010CHd

Complete rack assembly updated to show new EB module1036CHe

1341f CH Updated to show FW036 in customer instructions

CHECKED BY:

KB

KB

KB

KB

DATE:

09/01/15

19/01/15

17/03/15

12/10/16

± 
± 
± • 



(R)(F)
SC45EB

(R)(F)
SB46EB

(R)(F) SC46EB

(F) (R)
L1, H1 TWIN DOORSEU/R 629 SB45EB

Max.
200kg

42kg

L2, H1, TAILGATE
Vivaro/Traffic/Primastar 2014-

L2, H1, TWIN DOORS
Vivaro/Traffic/Primastar 2014-

L1, H1, TAILGATE
Vivaro/Traffic/Primastar 2014-

Vivaro/Traffic/Primastar 2014-

EU/R 630

EU/R 631

EU/R 632
Max.
200kg

Max.
200kg

Max.
200kg

41kg

46kg

45kg

Manufactured by Rhino Products Ltd in the United Kingdom

"VA" 8 Leg Fitting Kit, Modular RacksVA4R_f ( 1 of 4 )

,■, ■ )+~=□ ~, I. Ml 

, I ~. S I \+~ = ~ 
I• w _J 

,■, ■ \+~=□ r I I¾ W, 

✓ ■ 9 I '+~ =□ r I I¾ W, 

i 
1971mm G)\....___....JGJ 1 

I- 3098mm ----+I 
1+---- 4998mm --

~ 3098mm _gJ 
I+---- 4998mm ----------

i --n 
G)L.......-____,GJ r mm --aJJ 
I- 3498mm ---1 

i--5399mm --

i 
1971mm 

GJ\....__-------GJ 1 
I- 3498mm ----+I 

I+--- 5399mm --------+j 

---···-



(1:1)

FB003 (M8 x 65) x 16

FS015 (M8 x 25) x

FS038 (M6 x 25) x

FW036 (M6) x

FW002 (M8) x FN006 (M8) x48 24

8

16

16PS208 (M6) x
16

8

8

MS161 x

MS417 x

PS210 x 8

13mm x 2

10mm x 1

b

Manufactured by Rhino Products Ltd in the United Kingdom

"VA" 8 Leg Fitting Kit, Modular RacksVA4R_f ( 2 of 4 )

@ 
0 

<0--~ 



M8 x 25

Manufactured by Rhino Products Ltd in the United Kingdom

"VA" 8 Leg Fitting Kit, Modular RacksVA4R_f ( 3 of 3 )

1. 2. 3.

4. 5. 6.

12Nm 

=) 

iiii 

I 
~ 

8Nm 


	Sheet1
	Drawing View1

	Sheet2
	Drawing View20
	Drawing View21
	Drawing View22
	Drawing View23

	Sheet3
	Drawing View10
	Drawing View11
	Drawing View12
	Drawing View24

	Sheet4

